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Cost Free Self Evaluation Test - 7

(UNIT VI 11, 12™ ECONOMICS, INDIAN POLITY (12™ Std Volume 1),

CURRENT AFFAIRS (JULY) APTITUDE AND MENTAL ABILITY)
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1. The value of a machine depreciates 10% each year. A man pays ~ 30,000 for the
machine. Find its value after 3 years
A. 39,830 B. 21,870 C." 39,930 D." 21,970

@M% QUbHTSSE WY @atan® b 10% Gopsns. eoam Bms

AMBIGAISDBE 30,000 OBTHSHSHIT. Pl UHIBBEHHSE LIBEG B &L
61601601 7

A. 39,830 B. 21,870 C. " 39,930 D." 21,970
Explanation:
3
30000{100‘10]
100
30000x 22 29, 0 _ 51 g79
100 100 100

2. 00.15% of 33%% of Rs. 10,000 is

a. Rs. 0.05 b.Rs. 5 c. Rs. 105 d. Rs. 150
eh. 10,000 —60 33%% - 60 0.15% -ei1 AHIMLIG HTEWIH
a. Rs. 0.05 b.Rs. 5 c. Rs. 105 d. Rs. 150
Explanation:
15 1 1

5% 980k =S

T100x100 3 3
Required Value

15 1 10000=5
100x100 3

3. If the price of a book is first decreased by 20% and then increased by 20% then
the net change in the price will be
a. No change b. 5% increase
c. 4% decrease d. 10% decrease
R USSBHHST  aleweowtendl (pHelsd 20% Gemmdaiul G et 20%  elenev
gMBBLILLLT60 (alled SiHeT alemeoulled gmUBLD TBBSHH T FHAIHLD
a. @h LIBBIPD Be0en6v b. 5% emmid
c. 4% @mmpey d. 10% @emmsey
Explanation:

oy

20-20- 299 _ 40
100
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4. The price of coal is increased by 20%. By what percent a family should
decrease its consumption so that expenditure remains same?

a. 40% b. 23%% c.20% d. 16%%

pevssfuler alemeowmergd 20 FHaisd S &NESILGHBSI. R  G@BLUD
SIML U OFevemal @B SleTeuTd MauHHIS CdTeTen Geuewi(BLD 6T6Ne0, DI
SHOT@IenL Ul 2 _LBWLTHHMS 61HHM FHAHD GHMBHHS Oomeien GeuewiBLD?

a. 40% b. 23%% c. 20% d. 16%%
Explanation:
100xr _ 100x20 _, .2,
100+ r 120 3

5. If numerator of fraction is increased by 20% and the denominator is decreased
by 5%, the value of the new fraction becomes 5/2. The original fraction is:
24 3 95 48
L= b. = c. — d. —
19 18 48 95
@m UaaidbdHar 0s1@Hdh 20 FoHaish SHsflssiiuGaps. o065  Fwowib
DSDMLUI  LUGHFH 5 FHIFHD (GHMBSHSILBS B SBSHL  YFHw  Leirenrsgledr
A 5/2 &b,  eaiev, cpev LlesTentid
24 3 95 48
a. — b, = c. —= d.=
19 18 48 95
Explanation:

Original Fraction let be5
y

xx120 _ 5
yx95 2
X 95

y 48

6. If 8% of ‘a’ is same as that 4% of ‘b’ then what will be 20% of ‘a’?
A.10% of b B.80% of b

C.16% of b D.24% of b
‘a @ar 8 gzaimupd ‘D @6t 4 gxeimupd @B i, ‘a’ @&t 20 FHeisbd
TRTRUTS  BY(HBGLD?
A.b a1 10% B.b @er 80%
C.b e 16% D.b e 24%
Explanation:
8%a = 4%b
a 1
b 2
.. 20%a =10%b
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7. A man saves Rs. 3,000 per month from his total salary of Rs. 20,000. The
percentage of his saving is
a. 5% b. 10% c. 15% d. 20%
TS  eU@BLOTeID eh. 20,000 QUMD BUT Q@HEUT @AIGEUT(H LOTHIPWD h. 3,000
Gxiliy GFUISHeTBTT 6leled SieUmHMLW THF GFUI FHaiHD
a.5% b. 10% c. 15% d. 20%
Explanation:

3000 x100=15%
20000

8. A sum 817 is divided among, A, B and C such that A receives 25% more than
B and B received 25% less than C. What is the A share in the amount?
A. 228 B. 247 C. 285 D. 304
a.817 A, B, Caoselflssalssiiubsng. A-5@FdLsGHD  OFHTensB-m

al_25% 918 &1b.B-5@denL_d @b OpTenasC-2 alL_25 % &Hemmeereien A-et
LII&GWITS]?

A. 228 B. 247 C. 285 D. 304
Explanation:

Let share of Che =

7oz RE
Then, share of B = 100 — 1
share of A = Tx * % TI % g 115%
A-B:C — 15z 3z -
A T
=15:12:16

817 x 15 817 x 15

Shareof A = * * 985

15+ 12 + 16 43

9. If 60% of A’s income is equal to 75% of B’s income, then B’s income is equal to
x% of A’s income. The value of x is:

A.70 B. 60 C. 80 D. 90
A &1 aumomarhHed 60 FHeisHupd, B ulem eumbTaiHHed 75 FHeiHUpD  FDID

aefle0 B ullesr eugpomemiomeng A ulledr aUHLOTRISHH ‘X FHAISHOTGID. 6efled X
&1 WFH wrg?

A.70 B. 60 C. 80 D. 90
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60 x A =75 x =
4A = 5B

B=:A

A x To5 = B fgven]

Ax Z =%2=2=280

10.20 litres of mixture contains 15% alcohol and the rest water. If 5 litres of water

be mixed with it, the percentage of alcohol in the new mix

ture would be..

A. 18% B. 15% C. 6% D. 12%
20 eJLLT &Soevemeuuled  15¢p LELVBHABTEVID ISHD — HewIewi(HD 2 6iT6T6T.
AUEUTIRS) 5 QLT  HewiewiT @HBevewauuled GBFTEHILGHBSH  6Tellev,

SBOUTHIGTN HevewaUUTed  SLELHAMBTEVIET FHAIBHLD 6161166167
A. 18% B. 15% C. 6%

Explanation:

15
= 20x — =3ltr
Alcohol X 200

Water =20 -3 =17 ltr
At present Quantity of water =17 +5 =22 Itr
At present Quantity of Mixture =20 + 5 = 25 Itr

3
percentage of alcohol = > x100 =12%

5 | Page

D. 12%




facebook.com/appolocurrentaffairs

twitter.com/appolotraining

L)
APPOLO STUDY CENTRE
25, Nandhi Loop Street, West C.I.T. Nagar, Chennai - 600 035.
(Near: T. Nagar Bus Stand, Landmark: Nandhi Statue)
Email: enquiryatappelo@gmail.com www.appolosupport.com

Mobile: 9840226187, 9500099706
Ph: 044 - 24339436, 24340364, 42845818, 42867555 /(© : 7358194439

6 | Page




